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Note: For each question: Clearly state your hypotheses, assumptions and your conclusions. Use 5% level of significance unless specified other wise in the problem.
1. A publishing company is attempting to develop a multiple regression model that can be used to help predict text book sales for books it is considering for future publication. The marketing department has collected data on several variables from a random sample of 15 books, theses variables are: Y=Volumes Sold, X1=Pages, X2 = Competing Books, X3=Advertising Budget, X4=Age of Author.
Use the MINITAB output given below to answer the following questions:
a. How much of the total variation in the book sales can be explained by theses four independent variables? Would you concluded that the model is significant at the 5% level? Explain.
b. Develop a 95% confidence interval for the regression coefficient of the variable Age of Author and interpret this confidence interval. Based on your finding can conclude that the Age of Author playing a significant role? Explain. 
c. Which of the independent variables can be concluded to be significant in explaining the variation in the book sales? Use ( = 0.05.
d. Predict the book sales if, X1=400, X2=10, X3=10000 and  X4=35.
e. What can you say about the multicollinearity between the independent variables? Explain.
f. Select the best model using the MINITAB output. Clearly justify your selection. 
The regression equation is

Y = - 125308 + 176 X1 - 1574 X2 + 1.59 X3 + 1614 X4

Predictor        Coef     SE Coef          T        P       VIF

Constant      -125308       31082      -4.03    0.002

X1             175.90       39.77       4.42    0.001       1.4

X2              -1574        1996      -0.79    0.449       1.7

X3             1.5917      0.4445       3.58    0.005       1.4

X4             1613.7       625.0       2.58    0.027       1.2

S = 23850       R-Sq = 84.5%     R-Sq(adj) = 78.3%

Analysis of Variance

Source            DF      SS          MS           F        P

Regression         4 30960327043  7740081761     13.61    0.000

Residual Error    10  5688072957   568807296

Total             14 36648400000

Best Subsets Regression: Y versus X1; X2; X3; X4

Response is Y

                                                X X X X 

Vars   R-Sq    R-Sq(adj)        C-p         S   1 2 3 4 

   1   38.6         33.9       28.5     41593   X       

   1   38.5         33.8       28.6     41644       X   

   2   70.7         65.8        9.9     29930   X   X   

   2   63.3         57.2       14.6     33463   X     X 

   3   83.5         79.0        3.6     23436   X   X X 

   3   74.1         67.1        9.7     29357   X X X   

   4   84.5         78.3        5.0     23850   X X X X 

2. A study was recently performed in which it attempted to develop a regression model to explain variation in the mileage ratings of new cars. At one stage of the analysis, the estimated regression took the following form:
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where X1 = Vehicle weight, and X2 =0 if standard transmission and X2 =1 if   automatic transmission.  

a. Interpret the regression coefficient for the variables X1 and X2.
b. Cadillac’s 2000 with automatic transmission weights 4012 pounds. Provide an estimate of the average highway mileage you would expect to obtain from this model.  

3. Recently a survey was conducted involving customers of a fitness center.  Participants were asked to indicate how often they use the club by checking one of the following categories:  0–1 time per week; 2-3 times per week; 4-5 times per week. The following data show how males and females responded to this question.
	
	0-1
	2-3
	4-5

	Males
	41
	61
	50

	Females
	109
	89
	60


One of the purposes of the survey was to determine whether there is a relationship between the gender of the customer and the number of visits made each week. 

a. State the appropriate null and alternative hypothesis.

b. What test procedure is appropriate to use to conduct this test?
c. Conduct the hypothesis test using (=0.05.
4. The following data set represent the price in dollars and demand in  thousand KG  for a commodity:
	Price
	20
	60
	100
	140
	180
	220
	260
	300
	340
	380

	Demand 
	0.18
	0.37
	0.35
	0.78
	0.56
	0.75
	1.18
	1.36
	1.17
	1.65


Use the MINITAB output given below to answer the following questions:

a. Report the estimated regression equation, is the model significant? And comment on the value of R2.

b. Test the hypothesis that the slope of the regression is more than 8.

c. Using the output only, what can you say about the assumptions of the model? Clearly comment on the assumptions.   

MINITAB OUTPUT  

The regression equation is

Demand = 0.069 + 0.00383 Price

Predictor        Coef     SE Coef          T        P

Constant       0.0692      0.1010       0.69    0.512

Price       0.0038288   0.0004378       8.75    0.000

S = 0.1591      R-Sq = 90.5%     R-Sq(adj) = 89.3%

Analysis of Variance

Source            DF          SS          MS         F        P

Regression         1      1.9351      1.9351     76.49    0.000

Residual Error     8      0.2024      0.0253

Total              9      2.1374
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5. A company claims that its bulbs are superior to those of its main competitor. If a study showed that a sample of 16 of its bulbs had a mean lifetime of 647 hours of continuous use with a standard deviation of 27 hours, while a sample of 16 bulbs made by its main competitor had a mean lifetime of 638 hours of continuous use with standard deviation of 31 hours. Do you think that the company claim is justified? Use 5% level of significance. 
6. A company’s market share is very sensitive to both its level of advertising and the level of its competitors advertising. A firm known to have a 56% market share wants to test whether this value is still valid in view of recent advertising campaigns of its competitors and its own increased level of advertising. A random sample of 500 consumers reveals 298 use the company’s product. Is there evidence to conclude that the company’s market share is no longer 56% at the 0.01 level of significance?
7. The following data are average 1992-1997 (based on the first quarter) market shares of Japanese cars in the market. Do trend analysis to predict next year value.
27, 25.5, 26.4, 27.3, 28.2, 30.1

8. A major developer of housing communities in a city kept a record of the relative cost of labor and materials in its market areas for the past three years. These data are as follows:
	Years 
	1998
	1999
	2000

	Average Labor cost
	SR 49000
	57000
	63000

	Average Material  Cost
	SR 95000
	104000
	110000

	% Material Cost
	67
	68
	66


a. Determine the simple index for each component in the construction of the house using 1999 as the base year.

b. Find the unweighted aggregate index for the two components in the construction of the house using 1999 as the base year.

c. Construct a Paasche index number using 1999 as the base year.  
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;; (Microsoft Win32 Intel 386)  HOOPS 5.00-17 I.M. 3.00-17
(Selectability "windows=off,geometry=on")
(Visibility "on")
(Color_By_Index "Geometry,Face Contrast" 1)
(Color_By_Index "Window" 0)
(Window_Frame "off")
(Window -1 1 -1 1)
(Camera (0 0 -5) (0 0 0) (0 1 0) 2 2 "Stretched")

;; (Driver_Options "no backing storeno borderno control areadisable input,no do
;; uble-bufferingno double bufferingno force black-and-whiteno force black and 
;; whiteno gamma correctionsubscreen=(-0.999875,-0.519874,-0.999833,-0.359832),
;; no subscreen creatingno subscreen movingno subscreen resizingno subscreen st
;; retchingno update interrupts,use window id=787504")
(Edge_Pattern  "---")
(Edge_Weight 1)
(Face_Pattern "solid")
(Heuristics "no related selection limit")
(Line_Pattern  "---")
(Line_Weight 1)
(Marker_Size 0.421875)
(Marker_Symbol ".")
(Text_Font "name=arial-gdi-vector,no transforms,rotation=follow path")
(User_Options "mtb aspect ratio=0.667917,graphicsversion=6,worksheettitle=\"Wor
ksheet 1\",optiplot=0,builtin=0,statguideid=2201,toplayer=0,angle=0,arrowdir=0,
arrowstyle=0,polygon=0,isdata=0,textfollowpath=1,ldfill=0,solidfill=0,3d=0,useb
itmap=0,canbrush=0,brushrows=10,light scaling=0.00000,sessionline=-1")
(Segment "include" ())
(Front ((Segment "figure1" (
    (Window_Pattern "clear")
    (Window -1 0.1 -1 -0.03)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.499975 -0.59997 0) (0.59997 -0.59997 0) (0.59997 
		 0.59997 0) (-0.499975 0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "bar1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02607 sru")
		    (Segment "" (
		      (Text 0.513724 -0.669966 0 "0.15")))
		    (Segment "" (
		      (Text 0.381231 -0.669966 0 "0.10")))
		    (Segment "" (
		      (Text 0.248738 -0.669966 0 "0.05")))
		    (Segment "" (
		      (Text 0.116244 -0.669966 0 "-0.00")))
		    (Segment "" (
		      (Text -0.0162492 -0.669966 0 "-0.05")))
		    (Segment "" (
		      (Text -0.148743 -0.669966 0 "-0.10")))
		    (Segment "" (
		      (Text -0.281236 -0.669966 0 "-0.15")))
		    (Segment "" (
		      (Text -0.413729 -0.669966 0 "-0.20")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((0.513724 -0.59997 0) (0.513724 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.381231 -0.59997 0) (0.381231 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.248738 -0.59997 0) (0.248738 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.116244 -0.59997 0) (0.116244 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((-0.0162492 -0.59997 0) (-0.0162492 
			   -0.639968 0)))))
		      (Segment "" (
			(Polyline ((-0.148743 -0.59997 0) (-0.148743 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.281236 -0.59997 0) (-0.281236 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.413729 -0.59997 0) (-0.413729 -0.639968 
			   0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02607 sru")
		    (Segment "" (
		      (Text -0.569971 0.547142 0 "3")))
		    (Segment "" (
		      (Text -0.569971 0.182381 0 "2")))
		    (Segment "" (
		      (Text -0.569971 -0.182381 0 "1")))
		    (Segment "" (
		      (Text -0.569971 -0.547142 0 "0")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.499975 0.547142 0) (-0.539973 0.547142 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.499975 0.182381 0) (-0.539973 0.182381 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.182381 0) (-0.539973 -0.182381
			   0)))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.547142 0) (-0.539973 -0.547142
			   0)))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.03041 sru")
		    (Segment "" (
		      (Text 0.0499975 -0.812976 0 "Residual")))
		    (Segment "" (
		      (Polyline ((-0.479976 -0.59997 0) (0.579971 -0.59997 0)))
		      ))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.03041 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=9")
		      (Polygon ((-0.73397 -0.298821 0) (-0.73397 0.277202 0) 
			 (-0.618086 0.277202 0) (-0.618086 -0.298821 0)))
		      (Renumber (Text -0.647057 -0.298821 0 "Frequency") 1 "L")
		      
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Frequency") 1 "L")))))
		    (Segment "" (
		      (Polyline ((-0.499975 -0.579971 0) (-0.499975 0.579971 0)
			))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.48 0.58 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "bar1" (
		(Visibility "faces=off")
		(Color_By_Index "Face" 0)
		(User_Options "ldfill=1")
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.749962 -0.943349 0) (0.99995 -0.943349 0) 
		       (0.99995 0.943349 0) (0.749962 0.943349 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.499975 -0.943349 0) (0.749962 -0.943349 0) 
		       (0.749962 -0.31445 0) (0.499975 -0.31445 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0.249987 -0.943349 0) (0.499975 -0.943349 0) 
		       (0.499975 0.31445 0) (0.249987 0.31445 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((0 -0.943349 0) (0.249987 -0.943349 0) (0.249987 
		       -0.943349 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.249987 -0.943349 0) (0 -0.943349 0) (0 
		       -0.943349 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.499975 -0.943349 0) (-0.249987 -0.943349 0) (
		       -0.249987 -0.31445 0) (-0.499975 -0.31445 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.749962 -0.943349 0) (-0.499975 -0.943349 0) (
		       -0.499975 -0.31445 0) (-0.749962 -0.31445 0)))))))
		(Segment "" (
		  (Color_By_Index "Face" 1)
		  (Face_Pattern "/")
		  (User_Options "ldfill=1,solidfill=1")
		  (Segment "" (
		    (Polygon ((-0.99995 -0.943349 0) (-0.749962 -0.943349 0) 
		       (-0.749962 0.31445 0) (-0.99995 0.31445 0)))))))))))))))
	))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)
	(Front ((Segment "text1" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.03476 sru")
	    (Segment "" (
	      (Text 0.0499975 0.829958 0 "Histogram of Residuals")))))))))))))
  (Segment "figure2" (
    (Window_Pattern "clear")
    (Window -0.1 1 -0.07 0.9)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.499975 -0.59997 0) (0.59997 -0.59997 0) (0.59997 
		 0.59997 0) (-0.499975 0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())
	      (Segment "connect1" ())
	      (Segment "connect2" ())
	      (Segment "connect3" ())
	      (Segment "connect4" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02607 sru")
		    (Segment "" (
		      (Text 0.552105 -0.669966 0 "10")))
		    (Segment "" (
		      (Text 0.448897 -0.669966 0 "9")))
		    (Segment "" (
		      (Text 0.345689 -0.669966 0 "8")))
		    (Segment "" (
		      (Text 0.242481 -0.669966 0 "7")))
		    (Segment "" (
		      (Text 0.139272 -0.669966 0 "6")))
		    (Segment "" (
		      (Text 0.0360644 -0.669966 0 "5")))
		    (Segment "" (
		      (Text -0.0671437 -0.669966 0 "4")))
		    (Segment "" (
		      (Text -0.170352 -0.669966 0 "3")))
		    (Segment "" (
		      (Text -0.27356 -0.669966 0 "2")))
		    (Segment "" (
		      (Text -0.376768 -0.669966 0 "1")))
		    (Segment "" (
		      (Text -0.479976 -0.669966 0 "0")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((0.552105 -0.59997 0) (0.552105 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.448897 -0.59997 0) (0.448897 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.345689 -0.59997 0) (0.345689 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.242481 -0.59997 0) (0.242481 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.139272 -0.59997 0) (0.139272 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.0360644 -0.59997 0) (0.0360644 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.0671437 -0.59997 0) (-0.0671437 
			   -0.639968 0)))))
		      (Segment "" (
			(Polyline ((-0.170352 -0.59997 0) (-0.170352 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.27356 -0.59997 0) (-0.27356 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((-0.376768 -0.59997 0) (-0.376768 -0.639968 
			   0)))))
		      (Segment "" (
			(Polyline ((-0.479976 -0.59997 0) (-0.479976 -0.639968 
			   0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02607 sru")
		    (Segment "" (
		      (Text -0.569971 0.449925 0 "0.5")))
		    (Segment "" (
		      (Text -0.569971 2.22033e-16 0 "0.0")))
		    (Segment "" (
		      (Text -0.569971 -0.449925 0 "-0.5")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.499975 0.449925 0) (-0.539973 0.449925 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.499975 2.22033e-16 0) (-0.539973 
			   2.22033e-16 0)))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.449925 0) (-0.539973 -0.449925
			   0)))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.03041 sru")
		    (Segment "" (
		      (Text 0.0499975 -0.813759 0 "Observation Number")))
		    (Segment "" (
		      (Polyline ((-0.479976 -0.59997 0) (0.579971 -0.59997 0)))
		      ))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.03041 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=8")
		      (Polygon ((-0.809108 -0.25352 0) (-0.809108 0.231774 0) (
			 -0.693621 0.231774 0) (-0.693621 -0.25352 0)))
		      (Renumber (Text -0.722493 -0.25352 0 "Residual") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Residual") 1 "L")))))
		    (Segment "" (
		      (Polyline ((-0.499975 -0.579971 0) (-0.499975 0.579971 0)
			))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.48 0.58 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
		(Segment "points" (
		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
		  (Marker_Symbol "@")
		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 10)
		    (Marker 0.947372 0.195202 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 9)
		    (Marker 0.75264 -0.311891 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 8)
		    (Marker 0.557908 0.220496 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 7)
		    (Marker 0.363176 0.178842 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 6)
		    (Marker 0.168443 -0.250679 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 5)
		    (Marker -0.0262888 -0.307848 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 4)
		    (Marker -0.221021 0.271083 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 3)
		    (Marker -0.415753 -0.158437 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 2)
		    (Marker -0.610486 0.110201 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 1)
		    (Marker -0.805218 0.0530319 0)))))))
	      (Segment "connect1" (
		(Color_By_Index "Face Contrast,Line,Edge" 1)
		(Edge_Pattern  "---")
		(Edge_Weight 1)
		(Line_Pattern  "---")
		(Line_Weight 1)
		(Segment "" (
		  (Polyline ((-0.805218 0.0530319 0) (-0.610486 0.110201 0) 
		     (-0.415753 -0.158437 0) (-0.221021 0.271083 0) (-0.0262888
		     -0.307848 0) (0.168443 -0.250679 0) (0.363176 0.178842 0) 
		    (0.557908 0.220496 0) (0.75264 -0.311891 0) (0.947372 
		     0.195202 0)))))))
	      (Segment "connect2" (
		(Color_By_Index "Face Contrast,Line,Edge" 3)
		(Edge_Pattern  "---")
		(Edge_Weight 1)
		(Line_Pattern  "---")
		(Line_Weight 1)
		(Segment "" (
		  (Polyline ((-0.902584 -2.22033e-16 0) (1.04474 -2.22033e-16 0
		     )))))))
	      (Segment "connect3" (
		(Color_By_Index "Face Contrast,Line,Edge" 2)
		(Edge_Pattern  "---")
		(Edge_Weight 1)
		(Line_Pattern  "---")
		(Line_Weight 1)
		(Segment "" (
		  (Polyline ((-0.902584 0.85759 0) (1.04474 0.85759 0)))))))
	      (Segment "connect4" (
		(Color_By_Index "Face Contrast,Line,Edge" 2)
		(Edge_Pattern  "---")
		(Edge_Weight 1)
		(Line_Pattern  "---")
		(Line_Weight 1)
		(Segment "" (
		  (Polyline ((-0.902584 -0.85759 0) (1.04474 -0.85759 0))))))))
	     )))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)
	(Front ((Segment "text1" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.03476 sru")
	    (Segment "" (
	      (Text 0.0499975 0.829958 0 "I Chart of Residuals")))))
	  (Segment "text2" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "*<")
	    (Text_Font "name=arial-gdi-vector,size=0.01738 sru")
	    (Segment "" (
	      (Text 0.629968 0 0 "Mean=-1.0E-16")))))
	  (Segment "text3" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "*<")
	    (Text_Font "name=arial-gdi-vector,size=0.01738 sru")
	    (Segment "" (
	      (Text 0.629968 0.497402 0 "UCL=0.5528")))))
	  (Segment "text4" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "*<")
	    (Text_Font "name=arial-gdi-vector,size=0.01738 sru")
	    (Segment "" (
	      (Text 0.629968 -0.497402 0 "LCL=-0.5528")))))))))))))
  (Segment "figure3" (
    (Window_Pattern "clear")
    (Window -0.1 1 -1 -0.03)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.499975 -0.59997 0) (0.59997 -0.59997 0) (0.59997 
		 0.59997 0) (-0.499975 0.59997 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02607 sru")
		    (Segment "" (
		      (Text 0.535602 -0.669966 0 "1.5")))
		    (Segment "" (
		      (Text 0.197076 -0.669966 0 "1.0")))
		    (Segment "" (
		      (Text -0.14145 -0.669966 0 "0.5")))
		    (Segment "" (
		      (Text -0.479976 -0.669966 0 "0.0")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((0.535602 -0.59997 0) (0.535602 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((0.197076 -0.59997 0) (0.197076 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((-0.14145 -0.59997 0) (-0.14145 -0.639968 0)
			  ))))
		      (Segment "" (
			(Polyline ((-0.479976 -0.59997 0) (-0.479976 -0.639968 
			   0)))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02607 sru")
		    (Segment "" (
		      (Text -0.569971 0.579971 0 "0.2")))
		    (Segment "" (
		      (Text -0.569971 0.298639 0 "0.1")))
		    (Segment "" (
		      (Text -0.569971 0.0173062 0 "0.0")))
		    (Segment "" (
		      (Text -0.569971 -0.264026 0 "-0.1")))
		    (Segment "" (
		      (Text -0.569971 -0.545359 0 "-0.2")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.499975 0.579971 0) (-0.539973 0.579971 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.499975 0.298639 0) (-0.539973 0.298639 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.499975 0.0173062 0) (-0.539973 0.0173062
			   0)))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.264026 0) (-0.539973 -0.264026
			   0)))))
		      (Segment "" (
			(Polyline ((-0.499975 -0.545359 0) (-0.539973 -0.545359
			   0)))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Text" 1)
		    (Color_By_Index "Face Contrast,Line,Edge" 2)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Font "name=arial-gdi-vector,size=0.01738 sru")
		    (Segment "" (
		      (Polyline ((-0.499975 0.0173062 0) (0.59997 0.0173062 0))
		       )))))))))
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.03041 sru")
		    (Segment "" (
		      (Text 0.0499975 -0.812976 0 "Fit")))
		    (Segment "" (
		      (Polyline ((-0.479976 -0.59997 0) (0.579971 -0.59997 0)))
		      ))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.03041 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=8")
		      (Polygon ((-0.809108 -0.252037 0) (-0.809108 0.230419 0) 
			(-0.693621 0.230419 0) (-0.693621 -0.252037 0)))
		      (Renumber (Text -0.722493 -0.252037 0 "Residual") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Residual") 1 "L")))))
		    (Segment "" (
		      (Polyline ((-0.499975 -0.579971 0) (-0.499975 0.579971 0)
			))))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.48 0.58 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
		(Segment "points" (
		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
		  (Marker_Symbol "@")
		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 10)
		    (Marker 0.947126 0.640127 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 9)
		    (Marker 0.751482 -0.945271 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 8)
		    (Marker 0.555837 0.719206 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 7)
		    (Marker 0.360193 0.588975 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 6)
		    (Marker 0.164548 -0.753894 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 5)
		    (Marker -0.031096 -0.93263 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 4)
		    (Marker -0.22674 0.877363 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 3)
		    (Marker -0.422385 -0.465507 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 2)
		    (Marker -0.618029 0.374375 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 1)
		    (Marker -0.813674 0.195639 0)))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)
	(Front ((Segment "text1" (
	    (Color_By_Index "Text" 2)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.03476 sru")
	    (Segment "" (
	      (Text 0.0499975 0.829958 0 "Residuals vs. Fits")))))))))))))
  (Segment "figure4" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "viewinfigurecoord=0")
    (Front ((Segment "region" (
	(Front ((Segment "figure box" (
	    (Visibility "polygons=off,lines=off")
	    (Color_By_Index "Face" 0)
	    (Color_By_Index "Face Contrast,Line,Edge" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "solid")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.99995 -0.99995 0) (0.99995 -0.99995 0) (0.99995 
		 0.99995 0) (-0.99995 0.99995 0)))))))
	  (Segment "data box" (
	    (Visibility "faces=off")
	    (Color_By_Index "Polygon,Face Contrast,Line" 1)
	    (Edge_Pattern  "---")
	    (Edge_Weight 1)
	    (Face_Pattern "/")
	    (Line_Pattern  "---")
	    (Line_Weight 1)
	    (User_Options "ldfill=1,solidfill=1")
	    (Segment "" (
	      (Polygon ((-0.724964 0.123994 0) (-0.119994 0.123994 0) 
		 (-0.119994 0.705965 0) (-0.724964 0.705965 0)))))))
	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02524 sru")
		    (Segment "" (
		      (Text -0.250172 0.0939953 0 "1")))
		    (Segment "" (
		      (Text -0.422479 0.0939953 0 "0")))
		    (Segment "" (
		      (Text -0.594786 0.0939953 0 "-1")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.250172 0.123994 0) (-0.250172 0.103995 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.422479 0.123994 0) (-0.422479 0.103995 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.594786 0.123994 0) (-0.594786 0.103995 0
			   )))))))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02524 sru")
		    (Segment "" (
		      (Text -0.774961 0.685966 0 "0.2")))
		    (Segment "" (
		      (Text -0.774961 0.554516 0 "0.1")))
		    (Segment "" (
		      (Text -0.774961 0.423065 0 "0.0")))
		    (Segment "" (
		      (Text -0.774961 0.291615 0 "-0.1")))
		    (Segment "" (
		      (Text -0.774961 0.160165 0 "-0.2")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.724964 0.685966 0) (-0.744963 0.685966 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.724964 0.554516 0) (-0.744963 0.554516 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.724964 0.423065 0) (-0.744963 0.423065 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.724964 0.291615 0) (-0.744963 0.291615 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.724964 0.160165 0) (-0.744963 0.160165 0
			   )))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Edge" 1)
		    (Color_By_Index "Text" 2)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "v*")
		    (Text_Font "name=arial-gdi-vector,size=0.03365 sru")
		    (Segment "" (
		      (Text -0.422479 0.755962 0 "Normal Plot of Residuals")))
		    (Segment "" (
		      (Polyline ((-0.704965 0.705965 0) (-0.139993 0.705965 0))
		       )))))
		  (Segment "set2" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02944 sru")
		    (Segment "" (
		      (Text -0.422479 0.0239988 0 "Normal Score")))
		    (Segment "" (
		      (Polyline ((-0.704965 0.123994 0) (-0.139993 0.123994 0))
		       )))))
		  (Segment "set3" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "*>")
		    (Text_Font "name=arial-gdi-vector,size=0.02944 sru")
		    (Text_Path 6.12303e-17 1 0)
		    (Segment "" (
		      (Selectability "polygons=on!,text=off")
		      (Visibility "polygons=off")
		      (Text_Alignment "v>")
		      (Text_Path 0 1 0)
		      (User_Options "angle=90,polygon=3,linect=1,charct=8")
		      (Polygon ((-0.908663 0.292887 0) (-0.908663 0.526599 0) (
			 -0.845135 0.526599 0) (-0.845135 0.292887 0)))
		      (Renumber (Text -0.861017 0.292887 0 "Residual") 1 "L")
		      (Segment "raw" (
			(Visibility "off")
			(Renumber (Text 0 0 0 "Residual") 1 "L")))))
		    (Segment "" (
		      (Polyline ((-0.724964 0.143993 0) (-0.724964 0.685966 0))
		       )))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.705 -0.14 0.144 0.686)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
		(Segment "points" (
		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
		  (Marker_Symbol "@")
		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 10)
		    (Marker 0.399767 0.640127 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 9)
		    (Marker -0.943349 -0.945271 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 8)
		    (Marker 0.610235 0.719206 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 7)
		    (Marker 0.229008 0.588975 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 6)
		    (Marker -0.399767 -0.753894 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 5)
		    (Marker -0.610235 -0.93263 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 4)
		    (Marker 0.943349 0.877363 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 3)
		    (Marker -0.229008 -0.465507 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 2)
		    (Marker 0.0747665 0.374375 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 1)
		    (Marker -0.0747665 0.195639 0)))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))))))
  (Segment "annotation" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "toplayer=1")
    (Front ((Segment "text1" (
	(Color_By_Index "Text" 1)
	(Text_Alignment "^*")
	(Text_Font "name=arial-gdi-vector,size=0.05048 sru")
	(Segment "" (
	  (Text 0 0.979951 0 "Residual Model Diagnostics")))))))))))
)))))))))
"Residual Model Diagnostics")))))))))))
bol "@")
		    (User_Value 2)
		    (Marker 0.0747665 0.374375 0)))
		  (Segment "" (
		    (Marker_Size 0.210938)
		    (Marker_Symbol "@")
		    (User_Value 1)
		    (Marker -0.0747665 0.195639 0)))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))))))
  (Segment "annotation" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "toplayer=1")
    (Front ((Segment "text1" (
	(Color_By_Index "Text" 1)
	(Text_Alignment "^*")
	(Text_Font "name=arial-gdi-vector,size=0.05048 sru")
	(Segment "" (
	  (Text 0 0.979951 0 "Residual Model Diagnostics")))))))))))



